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60,0003 »2& 32 x32 1,080
301 Lptsazg 5,616 4,870 746
09 BUIRRIABLS 3,026 3,370 A 344
O3dZFE 3,026
-2 88,000 x1&H ~ 123 1,056
-S4l 5,000 x1H 20 122 1,200
DSt 2,000 %1% %202 *122 480
=28= 130,000& 18 25 260
LR 15,0002 +1% 22 30
10 BAIAHIENS 2,590 1,500 1,090
OAZHAEA SAHI (DS, 3519, HH
g) 7,000& 30«73l 1,470
OMoiEs&Ans sS4 7,000 160 1,120
401 AIEHIZLROY] 18,000 10,000 8,000
01 AlI&HI 18,000 10,000 8,000
OFAMN =2&E WA 15,000,000& * 14! 15,000
OANRA SES2ED AW 23
1,500, 000& *2JH 2= 3,000
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SA: Moo

MU WO SEHISH(AVTTHE/AUHE)

Crol: FOISIE HELQ CLE-ED
A BB O(B) - NEAY - BAS Of o e Hl R =2
sy 29 97,490 97,490 0

301 utEa= 97,490 97,490 0
05 S-2l-CtEeEsE43 97,490 97,490 0
oscl&E=¢ 91,840
Jlgs4y 200,000& »28H «12& 67,200
- 0= 200, 0003 x28H x23] 11,200
-3|o|=g 20,0003 28 +23| «12& 13,440
Ot =4 25,0002 * 113 *23] 5,650
Nezst 23 14,755 28,993 AN 14,238
201 Let3| 12,273 8,993 3,280
01 At 2eld] 7,400 5,800 1,600
O1. g2l 1,400
-=Xl3l 2 det=ZH| 100,000& *12& 1,200
-HotE HAHI 200,000& * 12| 200
O6.8xt=z 6,000
-=Xz2 22X HEZ 6,000, 000& 6,000
02 =229l 4,873 3,193 1,680
O1.3323ZAHA 3,500
M3 200,000 = 12& 2,400
=523 50,000& *12& 600
—ESEMHREZ 60,0003 x23| 120
-H3R3 380,000& 380
O3. A& EHl= X4l 1,373
-AE2 XYl 1,373,000& 1,373
405 XH&HFE SHI 2,482 0 2,482
01 X =SFHSHI 2,482 0 2,482
OdRII R (=SAHA) 2,482,000 *1CH 2,482
Y MBEA TA 41,038 31,310 9,728
2ozt 9,188 9,303 A 115
101 Q24| 5,626 5,476 150
10 JIZtHZ2Z2NHSEs 5,626 5,476 150
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SN Hote
M oY SHUTSY(LUTIHT/ABHT)
Pl HEE MBEY E4 (5l &2
_ _ MNuE o
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
SEERIEELEEET
36,7102 22§ +702 5,140
OAURE JIBLLD 5,139, 40024 +9. 45% 486
206 &bl 3,562 3,827 £265
T 3,562 3,827 265
OLAANY REH(HLSR)
1,590 %32 £ *702 3,562
MEEATY 31,850 22,007 9,843
101 Q12| 28, 150 18,307 9,843
B EENEEES 28,150 18,307 9,843
OBEM+SH B A2
33,5002 22 ¥502 3,350
OFGIAIZ ZEHTA H4 0y
33,5002 +12§ x50 1,675
O4URE JIBELD 5,025, 0002 +9. 45% 475
OsETA0I(LoYT2l HE) 22,650
—ol 200,0002 152 +72 21,000
-2 U 2R 110,000 * 152 1,650
201 L2yl 3,700 3,700 0
01 AFR2elt] 3,500 3,500 0
06. 2% 2 3,500
~gHore MaDIEA BHIUR
350,0002 *2CH x5 3,500
02 B2 200 200 0
O1. 2222 YHA 200
~HIIQB (01012 UALMRAK ALS
) 100, 0002 x2 % 200
B NANLA (RELTGHL /N HU A 140,810 140,810 0
NEESIEETPE= 140,810 140,810 0
T2k AretHl 50,000 50,000 0
401 ASHLLHH 50,000 50,000 0
01 AldH] 50,000 50,000 0
OARD FOIMBFAAY
50,000, 0002 * 14! 50,000
A2 XIS ARSI N 90,810 90,810 0
401 AlEHIL 20| 90,810 9,810 0
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A HotH

T ol NANLAY(RELTANL/NHLEA)
CHol: XIS 01 R ALY (Er9): & 2)
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl ko HRE2
01 AlZH 90,000 90,000 0
OYgHs e 2 B 20,000,000& 14! 20,000
ODE2el 0IZB S2IF(L=100m)
20,000,000& » 14! 20,000
OdlZ2l 0129 DHE == (2HL)
20,000,000& * 14! 20,000
OAE2el WS A5H&F I (L=90m)
20,000, 000214} 20,000
Osis2l 02 YR THER (L=80n)
10,000,000& * 14! 10,000
03 A& =0 810 810 0
OLT2XIG MBI LAY Al S TH]
90,000, 000& *0.90/100 810
HE2FZH(FotH)(JIEH/DIIE 210,959 206,999 3,960
Iz 2 & 30,575 28,251 2,324
FAHA2A 30,575 28,251 2,324
101 el H] 19,015 17,291 1,724
09 RIAHAZZNE S 19,015 17,291 1,724
O=xs2 ey 19,015
s 29,0103 » 1 x300& 8,703
-4012 725,250% +1% *300% 2,176
-HESOHd| 725,250 3 x1E «120% 871
-E2 2| 30,0003 x1H~122 360
-EsE 60,000 x2Z 123 1,440
BN EIS] 29,0103 x 1«15 436
-S4 29,0103 x 18 »522 1,509
A2t 2R 5,440 221 2+ 128 1,437
- g Al 80,000 x1& =128 960
A N 50,000& x1H + 122 600
~2&0143 29,0102+ 12432 #1228 *50% 523
203 YRFY| 11,560 10,960 600
01 JI22dFR=484] 6,600 6,000 600
O B2YLREY| 6,600, 0002 6,600
02 ZFJAIHRFEY| 760 760 0
OF AP R =] 40,000 19 760
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S Eoe
M. HYSFZHI(H6HH)(DIEH/DIE
chol: ol2i2 ot (et9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
04 BASYALEY| 4,200 4,200 0
ORANSIALERY| (FR1198)
350,000& x12& 4,200
Jl23&Hhl 180,384 178,748 1,636
SS9 117,344 111,838 5,506
201 B2 IH| 117,344 111,838 5,506
01 AR 2t2|tl 27,313 27,563 A 250
O1.Yb8t=2H]| 13,425
—EA2Y Yet2H| 13,425,000 13,425
O3.249x4 8,550
- =AYH| 50,000 *(110+61) & 8,550
O5.2 &l 3,610
-2EAE2YE S| 3,610,000& 3,610
O6.9x& 1,728
-HAES2HE U dXE 1,728,000& 1,728
02 =329l 90,031 84,275 5,756
O1.2Z2222 A 73,158
a = 6,829,000 6,829
-=E= 1,219,000 1,219
-geHse2 61,200,000& 61,200
-SIENEREZ2 220
NE=S 50,000& *23| 100
THE 60,000 *23| 120
—EANYS RES 3,040,000 3,040
~XEHAMS 2 650
CS2(AH) 650,000& = 1CH 650
0O2.49 =t 5,668,000& 5,668
O3. Al & &H| S Xl HI 7,964
-2 S = Xl 5,000& *629& 3,145
ak—2 =Nk 2,719,000& 2,719
-H e )| R X Y] 2,100,000& 2,100
O4. Xt A et| 3,241
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AN HotH
M HH2AZHI(HGH)(IIEH/IIE)
&l Jl=Z3 4l (chel &)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 04l &k 24 e HlnE2
-2 (2 d) 3,241,000 = 1CH 3,241
HEFEN 53,040 56, 160 23,120
202 O4Hl 53,040 56,160 A3,120
02 FHHOHI 53,040 56,160 23,120
OZ A0l 260,000 *17Hx12& 53,040
Aeb 2 2 FFHSHI 10,000 10,750 AT50
405 KHeHE SHI 10,000 10,750 AT50
01 XM EFHSHI 10,000 10,750 AT750
OB/ &X % FIIRY
10,000,000& * 14! 10,000
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M EetH

M2 Sol0 SHUTSY(LUTIHY/ABHT)
o9 FDISHE BHETD Rk
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o bRz
seto 483,069 458,969 24,100
Lot SHUTLY(YUDTHH/ABHE) 152,358 133,506 18,852
ZoI5He YYD 109,843 100,777 9,066
ze #y2Y 26, 126 16,560 9,566
201 Ysr2gyl 7,602 3,810 3,792
01 ARl 7,602 3,810 3,792
05.32 | 7,602
-EHHZET ORA2LX 24
7,00021*132§ x32 123 3,276
HEHE S OFRI22X 24
7,000 %3 * 132 +23] 546
SMHESHH RS YA2LT SA
7,000 %32 * 1802 3,780
202 oft 2,880 2,880 0
01 =00l 2,880 2,880 0
OZBHISY ZWOHH|
60, 00021 %2 +321 +53] 1,800
ORAMEL A =401t
60, 0002 %2 5321 +33] 1,080
01 YREHI 5,644 4,870 774
00 BA2RRALNI 3,194 3,370 A1T76
ozuzees 3,194
e 88,0002 %1% +122 1,056
-S| 5,000 * 12 %222 %122 1,320
-DEH 2,000 *1Z %222 #1228 508
aes 130,0002 12§ x25 260
LR 15,0002 +1% 22 30
10 SAHAHIR A3 2,450 1,500 950
OAZHAEA SAHI (DS, 3519, HH
) 7,000 %302 +73] 1,470
OMHYsLARE S| 7,000 %1402 980
401 AlEHILL 0] 10,000 5,000 5,000
01 Al&H] 10,000 5,000 5,000
OSHA SATEBA 10,000, 00024 *14! 10,000
selsry 29 74,610 75,310 ATO0
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SA

B ool ZHBTSH( JEEEE)
CHol: FDIEHE HHE D &2
E-E =T NS - Ba= Ak e 2
301 YEtEa= 74,610 75,310 AT00
s -2l - BtEe 74,610 75,310 AT700
oscl&E=¢g 72,160
-Jlg=g 200,000 22«12 52,800
-& 0= 200, 0003 x22H x23] 8,800
-s|ol G 20,0003 22 #2312 10,560
Ot =4 25,0003 49 »23| 2,450
ANE2s8 29 9,107 8,907 200
201 L3 9,107 8,907 200
At 22l 2,720 2,520 200
O1.get===4] 2,720
-=Xgl2 Lt 100,000& *12& 1,200
-R0ZH 892 110,000& 12 1,320
- E HAHI 200,000& 13| 200
23224l 6,387 6,387 0
O1.332=% 3,915
-&IIe3 2,442,000& 2,442
=3 253,000& 253
-N3tRs 380,000& 380
—EEMHRY 60,0003 23| 120
—HEZAaca 60,000& ~12& 720
O2.49 =4l 734,000& 734
O3. A8 IS XYl 1,738
-2 KXl 538,000& 538
==l YN L] 1,200,000& 1,200
kil MESH T4 42,515 32,729 9,786
22| 8,298 8,446 A 148
101 el | 5,626 5,476 150
10 JIZtH22AHsSE 5,626 5,476 150
Oodt&EI| 2HAA
36,710 x2E+70 5,140
O4tH2d J1& 5,140,000% *9.45% 486

_23_




SA

X{ ZH -
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setol Zard UBITZH
Sl B MEHY X4 (S5 &)
_ _ SIEN
SN -EHH . (B) - MPAY - BE2 0 Ak o4 il b o bRz
206 M= dl 2,672 2,970 A298
EETI 2,672 2,970 £298
OIS REH(HLR)
1,500 +24 § *702 2,672
MeEBH Y| 34,217 24,283 9,934
101 oIty 30,717 20,783 9,934
10 JAHZEZNSES 30,717 20,783 9,934
OBTH+ST BAZY U ALS Ha 0
) 33,5002 +22 ¥502 3,350
OstllgE=Y 2 212
33,5002 12 +602 2,010
OurE9IZH B4 U BUAXY A2y
33,5002 12 +602 2,010
O4tiRE 2R3 7,370,0002 9. 4% 697
OsANNZOI(LQ A2l BE) 22,650
~ol =zl 200, 00021+ 158 +72 21,000
-2 o 2O 110, 000! * 15 1,650
201 sy 3,500 3,500 0
01 AR 2ell 3,500 3,500 0
06. 4%t 2 3,500
RS SAWH S THIYR
350, 00024 *2CH *52 3,500
Setel NAHLA (RELX AN L/ N AL A 130,720 130,720 0
NEESIEE PV 130,720 130,720 0
EI=E] 50,000 50,000 0
401 Al&HI L2 50,000 50,000 0
01 Al&Y] 50,000 50,000 0
O2RE2 FUMBHAANY
50,000,000 14! 50,000
AR A N 80,720 80,720 0
401 AlEHILL 0 80,720 80,720 0
01 AlZH] 80,000 80,000 0
OZ A2l D+S3t4= &% (L=100m)
20,000,002 14! 20,000
0812l s2ZF(L=300m)
20,000,000 14! 20,000
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S B2
M St NGHLAL (S ELRNSMNL /NS LZAI
o9l X 0I5 (eH9l: 22
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
O& 22| =2 Z & (L=200m)
20,000,000& « 14! 20,000
Ooggs ¢dd & E= 20,000,000& 14! 20,000
03 AlZ=2C0HHI 720 720 0
OARSISAZ ML ALY AIERUYI
80,000,000& *0.90/100 720
HY2AZUI(SHH)(IIEHIIE 199,991 194,743 5,248
ol 29| 49,121 45,244 3,877
2AeE 23| 49,121 45,244 3,877
101 @14l 37,641 34,364 3,277
09 RIAHLZZXNES 37,641 34,364 3,277
OFALZE| o182 19,869
AR=r= 33,030 *1H *300 9,909
203 825, 7503 * 1 x300% 2,478
-HEFOtYI 825,750 * 13 *120% 991
-WESE 2l 30,000& x1H 12 360
-tEg 60,000& x1H *12& 720
PN L= 33,030& x 1 15 496
-=F=¢ 33,030& * 1 52 1,718
-AZ2tRI 2R 6,2003 x1H x22A| 2+x 12 1,637
- Z Al 80,000& x1H x12& 960
-JbHI 2 2| 50,0003 x1H = 12& 600
OHoI=Xg & 22|el2e 17,772
-JlEs 29,0102 »1H 3002 8,703
203 725,2503 1% *300% 2,176
-GEF Oty 725,250 * 13 *120% 871
-WS2 2| 30,000& x1H 12 360
-tEY 60,0003 x1H =122 720
-AXt==E 29,010& x 1 15 436
-=F=¢ 29,0103 x 1Y 52 1,509
-AZ2tRI 2R 5,440 x 1«22 A| 2t %12 1,437
- oM FZ Al 80,000& x1H *12& 960
-JbHI 2 & | 50,0003 x1H = 12& 600
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SN sote
H: WY AR (S2+2) (OIEHIIE)
chel: Jl= 2| (St5: @ 9)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
O3 A& ZBIR At 6,479
—SHS R 5,0002 #4215 2,105
“SHE HALAE 14,9602« 1005 1,496
—AS RN 1,678,0002! 1,678
ECSIEY 1,200,0002! 1,200
O4. 72 o Bl 2,974
-5t2(28) 2,974,00021*1CH 2,974
R =01t 59,400 59,400 0
202 Ofl 59,400 59,400 0
02 2ot 59,400 59,400 0
OB A 0fH| 330,0002 153 + 122 59,400
Rat 2 2EFSH 5,000 5,333 £333
405 THEFH S 5,000 5,333 £333
01 XHALSEFSH] 5,000 5,333 333
Oflga eg BIRl Y
5,000, 00021 *14} 5,000
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A JIAHH

HH: )| SHUTSY(LYUBIUT/ABHT)
o9 FDISE BHETD Rk
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 Sl ko HRE2
JIAHSH 531,785 449,040 82,745
N ZEHE2G (LS SHEY/LPHY) 193,745 131,910 61,835
Folgte HEFEL 160,376 108, 147 52,229
g dE2Z 32,582 16,656 15,926
201 Ysr2gyl 8,148 4,170 3,978
01 AtR2&cldl 8,148 4,170 3,978
O5.2&Hl 8,148
-EHHZET ORA2LX 24
7,000 «15H *3L 122 3,780
HEHEE 022X 24
7,000 «3H « 142 *23] 588
SMHESHH RS YA2LT SA
7,000 x3F 180 3,780
202 OdHl 2,880 2,880 0
01 =LAl 2,880 2,880 0
OzBHI2Y =X
60,000 x2H 32 x53] 1,800
OZSAHEH F20i]
60,0003 »2H +3 x33] 1,080
301 Lptsazg 6,554 4,606 1,948
09 BUIRRIABLS 3,194 3,106 88
O3dZFE 3,194
-2 88,000 x1&H ~ 123 1,056
-S4l 5,000 x1H x222 122 1,320
DSt 2,000 *1Z %222 #1228 508
=28= 130,000& x1H*25 260
—cofgsE 15,0002 +1% 22 30
10 BAIAHIENS 3,360 1,500 1,860
OAZHAEA SAHI (DS, 3519, HH
g) 7,000& 30«73l 1,470
OMoiEs&Ans sS4 7,000& %270 1,890
401 AIEHIZLROY] 15,000 5,000 10,000
01 AlI&HI 15,000 5,000 10,000
OJIAHE 2T AX 15,000,000& * 14! 15,000
sclgtd 24 84,270 84,270 0
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A JIAHH

I O SRUTEY (LYUBTHT /YY)
THol: FOIGHE BT (Er9): & 2
SN - EH . S(3) - MRAY - BES O &t 04 e HRz2
301 utEa=s 84,270 84,270 0
05 &-cl-tEas2dads 84,270 84,270 0
Oscl&E+g 78,720
JlEg 200,000 »24H « 128 57,600
e 20,0002 24 #23| 9,600
2o+ 20,0003 x24H 235|128 11,520
OEERa= 25,0002 +111% %23 5,550
Nei2s 29 43,524 7,221 36,303
201 LEH2EH| 29,992 7,221 22,771
01 Atf2teld 13,240 1,400 11,840
O1. gt =8| 7,000
b L 5,800
T YBt==H| 100,000& «12& 1,200
"HASE ¥ HEA 2ETY
100,000& «12& 1,200
TRoZFHEAR 250,000& 123 3,000
st A 200,000& 13| 200
TEYIF A 200,000& 13l 200
-HEstuSsE Lgt=EH| 100,000& «12& 1,200
03.2&8=+¢% 6,240
I 2stel @ EZ2OY 2% YALY
30,0003 #2& #2A| 2t %523 6,240
2 TZ2YH) 16,752 5,821 10,931
O1.2ZR3 YAl 11,605
-HE34H 4,307
TAIIRS 3,809,000& 3,809
THERE 378,000 378
TEIMERES 60, 000& *23] 120
olb 7,298
“IlA=232 & gal ot 400,000 400
THIIRS 400,000& ~12& 4,800
THERE 378,000& 378
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cH9l: F0I5HE

SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24

Aot ER3 60,000 123 720
TEMEER 1,000,000& * 14! 1,000
O2.¢2Hl 3,960
-ZEstuly 1,156,000& 1,156
-J1H 23te & 2,804,000& 2,804
O3. A2 &I =Xl dl 1,187
=X g2 A IS x| 300,000& 300
-JIH23ste & A=K A 1,118 793 m’ 887

301 LetEd= 1,050 0 1,050

10 BAIAHIENS 1,050 0 1,050

7,0002 12 %150 1,050
401 ANSHLLHY 10,000 0 10,000
01 A8 10,000 0 10,000

OR232 & ZHY YSAL &
10,000,000 *14] 10,000
405 XtarzE S| 2,482 0 2,482
01 HNLSEHSH] 2,482 0 2,482
OMUNSZ W) DU (RDSME)
2,482,000 14! 2,482
W MBEY E4 33,369 23,763 9,606
grol ol 7,052 7,225 A173
101 QI24Hl 3,617 3,521 %
10 JIZH22NELS 3,617 3,521 %
OB I LAY oIy
36,7102 %12 +902 3,304
O4UEE JlpRe3 3,303, 9002 0. 45% 313
206 Mzl 3,435 3,704 269
01 M=l 3,435 3,704 269
OLAANY REH(HLR)
1,59021 %24 £ *90 3,435
MEaAY 26,317 16,538 9,779
101 Q12| 26,317 16,538 9,779
10 JIZH22NELS 26,317 6,538 9,779
osp2sSIER ARy
33,5002 12 #1002 3,350
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AH S} 3

ol NE MEBEA XA (649l &2
_ _ _ Muo
N Z3 . CA(ZAH) - MPAY - BES e Ol Ak O Z
S EEEECEE 3,350,000 *9. 45% 317
OBARY|(LolYT2 HE) 22,650
~olsgl 200,0002 152 72 21,000
28 U LYY 10,0002 * 158 1,650
1A B XISHL A (RELT AT /T AL T A 140,810 140,810 0
NEEIELIN 140,810 140,810 0
WEINE=T] 50,000 50,000 0
401 AZH L2 50,000 50,000 0
01 A&t 50,000 50,000 0
OATD ZEOIMEFHO AL
50,000,0002 * 14! 50,000
AR AN 90,810 90,810 0
401 ANEZHL20b 90,810 90,810 0
01 A&l 90,000 90,000 0
ONHE2l AL WHBA 24
15,000,000 *141 15,000
OJter2el DS F Y2 &I (L=40M)
10,000, 0002 %14} 10,000
OJteHRI (23 4) B2 & X (L=300M)
20,000,0002 * 14! 20,000
OBUI1R2(TREX) Di2 oY T = (1=100)
10,000,000 *14} 10,000
OUEH2el OFS3t4E & X2 AHL=150M)
15,000, 0002 %14} 15,000
OgEs A8 U B2 20,000,00021 * 14! 20,000
03 A& 810 810 0
OARDSIIGAENL AL A& 2 THHI
90,000,0002 x0.90/100 810
22| (0142) (JIEHIIE) 197,230 176,320 20,910
29l 29,536 10,960 18,576
Aelet2 el 29,536 10,960 18,576
101 Q12| 17,976 0 17,976
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